
MATHS

BOOKS - TELUGU ACADEMY MATHS (TELUGU ENGLISH)

TRIGONOMETRIC EQUATIONS

Saq

1. Solve 

Watch Video Solution

sin x + √3 cos x = √2

2. Solve 

Watch Video Solution

√2(sin x + cos x) = √3

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_QjUIks6NnzmP
https://dl.doubtnut.com/l/_AxYeEpRr0gs7


3. Solve 

Watch Video Solution

cot x + cosecx = √3

4. Solve 

Watch Video Solution

tan θ + sec θ = √3, 0 < θ ≤ 2π

5. Solve 

Watch Video Solution

7 sin2 θ + 2 cos2 θ = 4

6. Solve .

Watch Video Solution

2 cos2 θ − √3 sin θ + 1 = 0

7. Solve cos 2θ + cos 8θ = cos 5θ

https://dl.doubtnut.com/l/_2nt1jVtiGl0l
https://dl.doubtnut.com/l/_Jy1DJftttyZM
https://dl.doubtnut.com/l/_nTDGngwfrYV7
https://dl.doubtnut.com/l/_6uFYvxHthlZN
https://dl.doubtnut.com/l/_fHKnqGuem3XV


Watch Video Solution

8. Solve .

Watch Video Solution

sin θ + sin 5θ = sin 3θ, 0 < θ < π

9. Solve 

Watch Video Solution

sin 2x − cos 2x = sin x − cos x

10. Solve 

Watch Video Solution

1 + sin 2x = (sin 3x − cos 3x)2

11. Solve 

Watch Video Solution

1 + sin2 θ = 3 sin θ cos θ

https://dl.doubtnut.com/l/_fHKnqGuem3XV
https://dl.doubtnut.com/l/_K6tfY8xQp2Uq
https://dl.doubtnut.com/l/_NXu5qsqiFScq
https://dl.doubtnut.com/l/_AFotVCI4oORx
https://dl.doubtnut.com/l/_mx9jaeR9XY51
https://dl.doubtnut.com/l/_TXVXXFKwM7F2


12. Solve .

Watch Video Solution

tan θ + 3 cot θ = 5 sec θ

13. If  as its solutions then show that 

 and hence show that 

.

Watch Video Solution

a cos 2θ + b sin 2θ = c  has θ1, θ2

tan θ1 + tan θ2 = tan θ1. tan θ2 =
2b

c + a

c − a

c + a

tan(θ1 + θ2) = b/a

14. If  are the solutions of the equation 

then S.T 

Watch Video Solution

α, β

a cos θ + b sin θ = c,  where a, b, c ∈ R and  if a2 + b2 > 0, cos α ≠ cos

sin α + sin β =
2bc

a2 + b2

https://dl.doubtnut.com/l/_TXVXXFKwM7F2
https://dl.doubtnut.com/l/_bZ7paN8b7oCv
https://dl.doubtnut.com/l/_QMXrBPl0EZwo


15. If  are the solutions of the equation 

then show that (i)  (ii) 

Watch Video Solution

α, β

a cos θ + b sin θ = c,  where a, b, c ∈ R and  if a2 + b2 > 0, cos α ≠ cos

sin α + sin β =
2bc

a2 + b2
sin α. sin β =

c2 − a2

a2 + b2

16. Given  . Show that the solutions of  form

two series each of which is in A.P . Find also the common difference of

each A.P .

Watch Video Solution

p ≠ ± q cos Pθ + cos qθ = 0

17. Find all values of x in  satisfying the equation 

Watch Video Solution

( − π, π)

81 + cos x + cos9 ( 2 ) x + ... = 43.

https://dl.doubtnut.com/l/_eqHm8FPtnllq
https://dl.doubtnut.com/l/_r9QhqWEDHLlW
https://dl.doubtnut.com/l/_NpH0xa6loEiZ


18. If 

Watch Video Solution

x + y = and sin x + sin y =  then findx, y
2π

3

3

2

19. If  then prove that 

Watch Video Solution

tan(π cos θ) = cot(π sin θ),

cos(θ − ) = ±
π

4

1

2√2

20. Solve 

Watch Video Solution

4 sin x. sin 2x. sin 4x = sin 3x

21. If 

Watch Video Solution

0 < θ < π,  then solve cos θ. cos 2θ. cos 3θ = 1/4

https://dl.doubtnut.com/l/_K9VN0bW0Vlwr
https://dl.doubtnut.com/l/_SN8CFLimV1aZ
https://dl.doubtnut.com/l/_sqhefoT6mLL3
https://dl.doubtnut.com/l/_tJp8wOEuppGt


Spq

22. If , then x =

Watch Video Solution

cos 3x + cos 2x = sin(3x /2) + sin(x /2), 0 ≤ x ≤ 2π

23. If x is acute and  then find x .

Watch Video Solution

sin(x + 10∘ ) = cos(3x − 68∘ )

24. Solve 

Watch Video Solution

4 cos2 θ + √3 = 2(√3 + 1)cos θ

25. Solve 

Watch Video Solution

2 sin2 x + sin2 2x = 2

https://dl.doubtnut.com/l/_zPVtyDoEM7GG
https://dl.doubtnut.com/l/_AaYwWMU41kov
https://dl.doubtnut.com/l/_ppGrzEceA7wD
https://dl.doubtnut.com/l/_NhmrobXspvr7
https://dl.doubtnut.com/l/_2TNA8PdhBgAb


1. Solve 

Watch Video Solution

5 cos2 θ + 7 sin2 θ = 6

2. Solve .

Watch Video Solution

2 cos2 θ + 11 sin θ = 7

3. If  then solve 

Watch Video Solution

0 < x <
π

2
cot2 x − (√3 + 1)cot x + √3 = 0

4. Solve 

View Text Solution

cos θ cos 7θ sin 4θ

5. Solve cos 3x − cos 4x = cos 5x − cos 6x

https://dl.doubtnut.com/l/_2TNA8PdhBgAb
https://dl.doubtnut.com/l/_UwJcbkhg13cq
https://dl.doubtnut.com/l/_adexCaN6BNma
https://dl.doubtnut.com/l/_WztNVW2N3mom
https://dl.doubtnut.com/l/_5gBI8bW4xZYa


Watch Video Solution

6. If  are the solutions of the equation 

then show that (i)  (ii) 

Watch Video Solution

α, β

a cos θ + b sin θ = c,  where a, b, c ∈ R and  if a2 + b2 > 0, cos α ≠ cos

sin α + sin β =
2bc

a2 + b2
sin α. sin β =

c2 − a2

a2 + b2

7. Show that the solutions  from two series each of which

is an A.P. Find also the common difference of each A.P 

Watch Video Solution

cos pθ = sin qθ

(p ≠ ± q)

8. If  show that the solutions are in A.P with

common difference 

Watch Video Solution

tan pθ = cot qθ and p ≠ q

π

p + q

https://dl.doubtnut.com/l/_5gBI8bW4xZYa
https://dl.doubtnut.com/l/_af1X38hVSpXB
https://dl.doubtnut.com/l/_VvXnM5g7FaOb
https://dl.doubtnut.com/l/_hNxcdEveLclO



